MATH1061/7861 Semester 2, 2005 Solution Ass. 6

Chapter 5.2

Q. Prove that A C Bifandonlyif ANB=A

Let p correspond to x € A and let g correspond to x € B. Then the above statement,
is equivalent to (p — ¢) <> ((p A q) <> p)

The truth table for this statement form is:

plaglllp—=q |« |((pPAg) |+ D)
T|T T T T T
T|F F T F F
F|T T T F T
F|F T T F T

Since the statement form is a tautology the set law is true for all sets A and B.

Exercise Set 5.3

Q20 go, as Sq = {{a},{qa,b},{a,c}}, Sy = {{b},{a,b},{b,c}} and S, N S, = {{a, b}} #

Ql Ax B=1{(1,2),(1,3),(2,2),(2,3)}

P(Ax B) =

Q2 a) P(0) = {0}.
b) P(P(0)) = {0, {0}}, so P(P(P(0))) = {0, {0}, {{0}}, {0, {0}}}.

Exercise Set 11.1
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Q9 i)er,eq er i) v, ve 1iii) eg, €7 iV) ey, es, V) eq, €5 vi)vy vil)deg(vs) = 2
viii) total degree is 14.
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Q23 Let v represent the number of vertices and since the sum of the degrees of the
vertices must equal twice the number of edges, we have 3v = 18. So v = 6. Now

the corresponding graph is:
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